
Name _______________________ 
Computer Science Exam #1 

Multiple Choice 
1.  Which of the following is false regarding methods in Java?   
 

A. Methods may return an array. 
B.  Methods may have an array as one of its parameters. 
C.  Methods may contain no return statement. 
D. Methods may access private data of another (different) class. 
E. Methods may have more than 1 loop. 

_____________________________________________________________________________________ 
 
2.  When writing the TotalPointsGradebook  class an ArrayList  of Assignment  objects was 
used instead of an array of Assignment  objects. Which of the following was the best reason to use an 
ArrayList  over a built-in Java array?  
 

A. Built-in Java arrays cannot contain objects, in this case Assignment  objects 
B.  The ArrayList  will grow to accommodate the addition of more Assignment  objects 
C.  It is easier to use the .get  and .set  methods of an ArrayList  over the []  notation of arrays 
D. The Assignment  methods are easier to use with an ArrayList  than with an array  
E. The AP exam will not have built-in Java arrays in any questions 

 
_____________________________________________________________________________________ 
3.  In writing the game of Chomp, which of the following data structures was used? 
 

A. A one-dimensional array of char  data 
B.  A one-dimensional array of int  data 
C.  An ArrayList  of char  data 
D. A two-dimensional array of char  data 
E. A two-dimensional array of int  data 

 
_____________________________________________________________________________________ 
4.  If array arr  has five elements with values 0 1 2 3 4 , what is the value of x after the following code 
segment is executed? 
 
int x = 0; 
 
for(int i = 0; i < 5; i++) 
{ 
 x += arr[i]; 
} 
 

A. 0 
B.  4 
C.  7 
D. 9 
E. 10 

 



5.  If array arr  has five elements with values 0 1 2 3 4 , what is the value in arr  after the following 
code segment is executed? 
 
for(int i = 0; i < 5; i++) 
{ 
 arr[i] = arr[arr[i]]; 
} 
 
 

A. 0 1 2 3 4 
B.  1 2 3 4 0 
C.  1 2 2 2 2 
D. 0 0 0 0 0 
E. 1 2 3 4 4 

 
_____________________________________________________________________________________ 
 
6.  Which of the following statements about constructors is NOT true? 
 

A. All constructors must have the same name as the class they are declared in. 
B.  Constructors return type must be declared void . 
C.  A class may have a constructor that takes no parameters. 
D. A constructor is called when a program creates an object with the new operator. 
E. A constructor of a subclass can call a constructor of its superclass using the Java reserved word 

super . 
 
_____________________________________________________________________________________ 
 
Consider this class for Questions 7 and 8: 
 
public class BingoCard 
{ 
 private int[] myCard; 
  
 /* Default constuctor: Creates BingoCard with  
  * 20 random digits in the range 1 - 90 */ 
  public BingoCard() 
  { /* implementation not shown */ } 
   
  /* Display BingoCard */ 
  public void display() 
  { /* implementation not shown */ } 
} 
 
A program that simulates a bingo game declares an array of BingoCard . The array has NUMPLAYERS 
elements, where each element represents the card of a different player. Here is the code segment that creates 
all the bingo cards in the game: 
 
/* declare array of  BingoCard */ 
/* construct each  BingoCard */ 
 



7.  Which of the following is a correct replacement for  
 
/* declare array of  BingoCard */ 
 

A. int [] BingoCard = new BingoCard[NUMPLAYERS]; 
B.  BingoCard [] players = new int[NUMPLAYERS]; 
C.  BingoCard [] players = new BingoCard[20]; 
D. BingoCard [] players = new BingoCard[NUMPLAYERS]; 
E. int [] players = new BingoCard[NUMPLAYERS]; 

 
_____________________________________________________________________________________ 
 
8.  Assume that players has been declared as an array of BingoCard , which of the following is a correct 
replacement for 
 
/* construct each  BingoCard */ 
 

I for(BingoCard card : players) 
{ 
 card = new BingoCard(); 
} 
 

II  for(BingoCard card : players) 
{ 
 players[card] = new BingoCard(); 
} 
 

III  for(int i = 0; i < players.length; i++) 
{ 
 players[i] = new BingoCard(); 
} 

 
 

A. I only 

B.  II only 

C.  III only 

D. I and III only 

E. I, II, and III 

 
_____________________________________________________________________________________ 
 
9.  Given two initialized String variables, str1 and str2, which of the following conditions correctly tests 
whether the value of str1 is greater than or equal to the value of str2 (in lexicographical order)? 
 

A. str1.compareTo(str2) == true 
B.  str1.compareTo(str2) >= 0 
C.  str1 >= str2 
D. str1.equals(str2) || str1.compareTo(str2) == 1 
E. str1.length() > str2.length() || str1 >= str2 

 



10. Consider the following code segment 
 
ArrayList <String> list = new ArrayList <String> () ; 
 
list.add(“P”); 
list.add(“Q”); 
list.add(“R”); 
list.set(2, “S”); 
list.set(1, “T”); 
list.add(“U”); 
list.add(3, “R”); 
System.out.println(list); 
 
What is printed as a result of executing the code segment? 
 

A. [P, Q, R, S, T] 
B.  [P, Q, S, T, U] 
C.  [P, Q, T, S, U] 
D. [P, T, Q, S, U] 
E. [P, T, S, R, U] 

_____________________________________________________________________________________ 
 
11. Consider the following code segment 
 
String [] list = new String[5]; 
 
list[0] = “P”; 
list[1] = “Q”; 
list[2] = “R”; 
list[3] = list[0]; 
list[4] = list[1]; 
list[list.length-1] = list[4]; 
System.out.println(list); 
 
What is printed as a result of executing the code segment? 
 

A. [P, Q, R, Q, P] 
B.  [P, Q, R, P, Q] 
C.  [P, Q, R, Q, Q] 
D. [P, R, Q, P, P] 
E. [P, R, Q, R, P] 

 
 



Questions 12-13 refer to the following information.  

Consider the following instance variable nums and method findLongest  with line numbers added for 
reference. Method findLongest  is intended to find the longest consecutive block of the value target 
occurring in the array nums; however, findLongest  does not work as intended.  

 
For example, if the array nums contains the values: 
 [7, 10, 10, 15, 15, 15, 15, 10, 10, 10, 15, 10, 10] ,  
 
the call findLongest(10)  should return 3, the length of the longest consecutive block of 10s.   
 

 



12. The method findLongest  does not work as intended. Which of the following best describes the value 
returned by a call to findLongest  ? 

  
  

A. It is the length of the shortest consecutive block of the value target in nums. 
B.  It is the length of the array nums. 
C.  It is the number of occurrences of the value target in nums. 
D. It is the length of the first consecutive block of the value target in nums. 
E. It is the length of the last consecutive block of the value target in nums. 

 
13. Which of the following changes should be made so that method findLongest  will work as intended? 
   

A. Insert the statement lenCount = 0;  between lines 2 and 3. 
B.  Insert the statement lenCount = 0;  between lines 8 and 9. 
C.  Insert the statement lenCount = 0;  between lines 10 and 11. 
D. Insert the statement lenCount = 0;  between lines 11 and 12. 
E. Insert the statement lenCount = 0;  between lines 12 and 13. 

_____________________________________________________________________________________ 
 



14.  Consider the following code segment. 
 

int[][] mat = new int[3][4];  
for (int row = 0; row < mat.length; row++)  
{  
   for (int col = 0; col < mat[0].length; col++)  
   {  
      if (row < col)  
      {  
         mat[row][col] = 1;  
      }  
      else if (row == col)  
      {  
         mat[row][col] = 2;  
      }  
      else  
      {  
         mat[row][col] = 3;  
      }  
   }  
}  

 
What are the contents of mat  after the code segment has been executed? 
 

A. {{2, 1, 1},  
 {3, 2, 1},  
 {3, 3, 2},  
 {3, 3, 3}} 
 

B.  {{2, 3, 3},  
 {1, 2, 3},  
 {1, 1, 2},  
 {1, 1, 1}} 
 

C.  {{2, 3, 3, 3},  
 {1, 2, 3, 3},  
 {1, 1, 2, 3}} 
 

D. {{2, 1, 1, 1},  
 {3, 2, 1, 1},  
 {3, 3, 2, 1}} 
 

E. {{1, 1, 1, 1},  
 {2, 2, 2, 2},  
 {3, 3, 3, 3}} 

 
_____________________________________________________________________________________ 
 



15. Consider the following instance variable and method.  
private int[] array;  
 
/** Precondition : array.length > 0  
*/  
 
public int checkArray()  
{  
   int loc = array.length / 2;  
   for (int k = 0; k < array.length; k++)  
   {  
      if (array[k] > array[loc])  
      {  
         loc = k;  
      }  
   }  
return loc;  
}  

 
Which of the following is the best postcondition for checkArray  ?  
(Postconditon means what is true after the method has completed) 
 
 A. Returns the index of the first element in array array  whose value is greater than array[loc]  
 B. Returns the index of the last element in array array  whose value is greater than array[loc]  
 C. Returns the largest value in array array  
 D. Returns the index of the largest value in array array  
 E. Returns the index of the largest value in the second half of array array  
 
 



Multiple Choice Answers 
1) D 
2) B 
3) D 
4) E  
5) A 
6) B 
7) D 
8) C 
9) B 
10) E 
11) B 
12) C 
13) E 
14) D 
15) D



Name _________________________ 
Free Response 
 

16.   

 



 
 
 



 
 

 



 

 



 



JavaBat Type of Questions 
 
In addition to one AP Level question like the one above, there will be two Array 1 and one Array 2 type of 
questions. The best way to practice these types of questions is to just do a few more on Javabat.com. 
 



Solution for Free Response 
 

16.  

 



 


